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A B C D E
AHAEIASE  FHEEESE GDPHUEE  GDPLIZEH0|HASE

SHIAEIHSE 1215822222

FEACtHEZE| 1122755556 1.551715556

GDPAEE 0.279866667 0781333332 2.869066667

GDPLCIZB0|HAYEE 0.5684882389 0.615755556 0.1352 1.261155556

A B C D E
AHAEIHSE FHHEOESEl GDPEEE  GDPLIZL0HASE
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MZXHE =
' GDP o%E FegedEZE 0.81741785 1
|-7.-|| _J|\_7|. GDPHEE 0.149846229 0.370305341 1
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describe xlsx

L= AMEQ 2B

Sheets
SO (@)
Sheetl
Sheet2
IO
HEEE
(BLZ 0|5)

0.000112276
2.79867E-05
5.68489E-05

0.000155172
7.81333E-05
6.15756E-05

0.000286907
0.00001352

0.000126116
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1
0.81741785
0.149846229
0459095054

0.370305341 1
044016748  0.071075847




b3-ch5-1-rev.R > (var<-var (df_new))

cpi  interest gdp deflator
cpi 1.3026667 1.2029524 0.2998571 0.6090952
interest 1.2029324 1.6625524 0.8371429 0.6597381
gdp 0.2998571 0.8371429 3.0740000 0.1448571
deflator 0.6090952 0.6597381 0.1448571 1.3512381

library(openxlIsx)

df<-read.xIsx("http://kanggc.iptime.org/book/data/describe—e.xlsx")

df_dat<-data.matrix(df) - corr
cpi  interest gdp deflator
<—df_datl 2] cpi .0000000 0.8174179 0.14984623 0.45909505
Cpi<-di_datl, ¥ interest 0.8174179 1.0000000 0.37030534 0.44016748
interest<—df_dat[.3] gdp .1498462 0.3703053 1.00000000 0.07107585
deflator 0.43%0951 0.4401675 0.071075385 1.00000000

gdp<-df_dat[,4]

deflator<-df_dat[,5]

= (var_new=-var (df_new_1))

[,1]1 [.2] [,3] [.4]

1,] 1.302667e-04 1.202952e-04 2.998571e-05 6.090952e-05

2,] 1.202952e-04 1.662552e-04 8.371429e-05 6.597381e-05

df new [2,] 2.998571e-05 8.37142%9e-05 3.074000e-04 1.448571e-05

- [4,] 6.090952e-05 6.597381e-05 1.448571e-05 1.351238e-04

= {corr<-cor (df_new_13)

[,1] [.2] [.3] [.4]
(var<-var(df_new)) [1,] 1.0000000 0.8174179 0.14984623 0.45909505
, ¥ [2,] 0.8174179 1.0000000 0.37030534 0.44016748
df_var<-data.matrix(var) [2,] 0.1498462 0.3702052 1.00000000 0.07107585
(sd<—sart(diag(df_var [4,] 0.4590951 0.4401675 0.07107585 1.00000000

. o [
df_new<-cbind(cpi, interest, gdp; deflator) / [

df_new_1<-cbind(cpi/100, int 0, gdp/100, deflator/100)
(var_new<-var(df_new_1))

(corr<—cor(df_new_1))




